
Integrály a derivace

y = et y′ = et
∫
et dt = et + c

y = t y′ = 1
∫
1 dt = t+ c

y = t2 y′ = 2t
∫
2t dt = t2 + c

y = tn y′ = ntn−1
∫

ntn−1 dt = tn + c
y = sin t y′ = cos t

∫
cos t dt = sin t+ c

y = cos t y′ = − sin t
∫
(− sin t) dt = cos t+ c

Derivace složené funkce

y = sin 10t

u = 10t

u′ = 10

y = sinu

y′ = u′ cosu

y′ = 10 cos 10t

y = cos 10t

u = 10t

u′ = 10

y = cosu

y′ = (− sinu)u′

y′ = −10 cos 10t

y = e10t

u = 10t

u′ = 10

y = eu

y′ = euu′

y′ = 10e10t



Integrál složené funkce

y = sin 10t∫
y dt =

∫
sin 10t dt

u = 10t

u′ =
du
dt
= 10

dt =
du
10∫

sinu dt =
∫
sinu

du
10

1
10

∫
sinu du = − 1

10
cosu∫

sin 10t dt = − 1
10
cos 10t+ c

y = e−t∫
y dt =

∫
e−t dt

u = −t

u′ = −1
du
dt
= −1

dt = −du∫
eu dt = −

∫
eu du∫

e−t dt = −e−t + c


